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1 = ooogs2 E 600,000
2 = goo E 300,000
3 ("] ooo E 210,000
4 = goo E 150,000
T5 ("] ooo E 92,666
T5 ("] ooo E 92,666
T5 ("] ooo E 92,666
8 ("] ooo E 76,000
T9 ("] ooo E 69,000
T9 ("] ooo E 69,000
T11 = ooo E 62,000
T11 = ooo E 62,000
T11 = ooo E 62,000
14 = ooo E 58,000
T15 = ooo E 52,300
T15 = ooo E 52,300
T15 = ooo E 52,300
T15 = ooo E 52,300
T15 = ooo E 52,300
20 ("] ooo E 47,500
T21 = goo E 45,250
T21 = goo E 45,250
T23 ("] ooo E 42,250
T23 ("] ooo E 42,250
T25 = ooogd E 39,500
T25 = ooo E 39,500
T27 = ooo E 36,500
T27 = ooo E 36,500
T27 = ooo E 36,500

1/2



ggd

T27

31

T32

T32

T32

T32

36

37

38

39

40

goo

goo

ooas9

goo

goo

goo

goo

goo

goo

goo

goo

36,500
34,000
31,500
31,500
31,500
31,500
29,000
28,000
27,000
26,000

25,000

2/2


http://www.tcpdf.org

